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QUESTION 1

You build an access model with two entitlements. Each entitlement has four access points. The entitlements do not
have any access points in common. How many access point combinations will be analyzed?

A. 20
B. 16
C.8
D.4
E. 25

Correct Answer: C

QUESTION 2

Which controls can user A manage for the following Control Manager role Configuration? See details of perspective
trees and control-perspective association below.

T R T ]
| Seeded Control

—1 Vianager

| Composite Duty
ABCControf | Role
User: A 3 ‘ Manager Job |

Role ABC Control

L 1 ManagerData (<€ Smegad DSP o.‘macr.:u;i munmq Eauals a Control Manager DataSecunty Po. (@ Inclugde

| Security Policy

‘ Filter Name Object Arnributs Condition Value Include or Exclude

Perspactive Fili Euisr‘.'-'!wtl Region =] | Includes Childrai| =] bortn Amarica B Incige

| Control— Perspective Association

Business Process

| Perspective Trees - Hierarchy |

Region Compliance Business
(Security) QFrameworks Process
oX p2p

I
>USA 50

Compliance
Frameworks

North America, Torth America
Control 1
E M EA » Canada
Control 2 North America 02C SOX
Control 3 EMEA 02C SOX EMEA omB 02
Control 4 USA 02C OMB

A. All controls

B. Controls 2 and 4

C. Controls 1, 2, and 4
D. None

E. Controls 1 and 2

Correct Answer: E
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QUESTION 3

Select three fields that are required to create an impromptu assessment. (Choose three.)
A. Due Date

B. Template

C. Name

D. Reviewer

E. Perspectives

F. Activity

Correct Answer: ABC

QUESTION 4

The internal auditor advised the Control Owner of North America to perform assessment for two P2P
controls.

Which three steps can the Control Owner perform to kick-off assessments for only those two controls?
(Choose three.)

A. Initiate a planned assessment that includes all controls assigned to perspective P2P.

B. Perform impromptu assessments for the two controls.

C. Enable impromptu assessments during configuration of module objects.

D. Initiate a planned assessment and include the two controls as part of the same assessment.

E. Initiate two planned assessments, one for each control.

Correct Answer: ACE

QUESTION 5

Your client has asked you to define a transaction model to identify duplicate invoices based on Invoice
Numbers and Invoice Amounts.

Which two standard filters can be combined to accomplish this? (Choose two.)

A. The "Payables Invoice" object\\'s "Supplier ID" does not equal itself.

B. The "Payables Invoice" object\\'s "Invoice ID" is similar to the "Payables Invoice" object\\'s "Invoice Number".

C. The "Payables Invoice" object\\'s "Invoice Amount" is equal to itself.
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D. The "Payables Invoice" object\\'s "Invoice Number" is equal to the "Payables Invoice" object\\'s "Invoice ID."
E. The "Payables Invoice" object\\'s "Invoice Number" is equal to itself.

Correct Answer: AD
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